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MASS COMMUNICATION AND JOURNALISM

Paper III

Time Allowed : 2% Hours] ; [Maximum Marks : 150

Note :—Attempt All questions. Each question carries 2 marks.

1. Who wrote the book ‘Mass Media and National Development’ ?
(A) Gutenberg (B) Daniel Lerner
(C) Mohan Kumar Maégalam (D) Wilbur Schramm

2. In the census me‘thod of data collection we collect data from :
(A) a sample of the population

(B) some people at random and then from all people by using a non-random
sampling method

(C) every unit of the population

(D) none of the above

3. Which of the following is not true about geometric mean ?

(A) It is not the best measure of ratios of change

(B) It cannot be calculated unless the value of all the items are known

(C) It is least affected by extreme items

(D) It is unrealistic and complex

T.B.C. : 50/13/ET-T[] 2



TEAEER U USehIar
gya-ux 111
g : 2% U ‘ rguifes : 150
Az sl T A E | YA WA B QIR T
1wy difew din T faww gww e faet w7
(A) T (B) 3fEe @R
(C) HEd HARHTEH . (D) faex oW
2 m@ﬁﬁﬁﬁmmﬁmmﬁ@%%?
(A) SO W GH A AR
(B) mm@mam%mﬁmﬁmmawma
(C) wHEE H W TFE
(D) mﬁaaﬁaa?éaﬁ
3 R WeR % @R ¥ frefetea § ¥ w0 W W € 2
(A)  TE UREEH ® eHTE A # dead s W R
(B) wﬁmmﬁﬂéﬁwmmwmﬁuﬁmmwa@
C) d7 satys wE W ged %H wfed g ®

(D) ¥% sEratas AR wfew A ®

T.B.C. : 50/13/ET-=I[[ 3 P.T.O.



Quota sampling is a type of :

(A) stratified sampling

(B) random sampling

(C) judgement sampling

(D) none of the above

What is the basic objective of market segmentation ?

(A) We want to divide the market into a few geographical sections so that

logistic operations could be facilitated
(B) We want to identify target market niches

(C) We want to define clearly such market niches as have similar charac-

teristics and features
(D) All of the above are true
Who takes purchase decision in the case of a teenager boy ?
(A) The boy himself
~ (B) Parents in consultation with him
| (C) His mofher

(D) None of the above
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1. In the normal distribution :

(A) Mean > Median > Mode
(B) Mean < Median < Mode
(C) Mean = Median > Mode
(D) Mean = Median = Mode
8. Research that allows a manager to drive at a logical decision is
called :
(A) Conclusive research
(B) Explanatory research
(C) Descriptive research
(D) Both (A) and (C)

9. The mass media is the gun and the message is a fluid. Which model makes

this assumption ?

(A)

(B)

(©)

(D)

Limited effect model

The cause and effect model

Hypodermic needle model

Laswell’s model
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10. The spine of a book is its :
(A) first page
(B) title page
(C) hard bound cover
(D) binding edge where the forms are joined
11. A justified paragraph of text is aligned :
(A) to the i’ight | (B) in the centre
(C) to the left (D) on both sides

12. In which newspaper did Gandhi wrote “I.have taken up journalism not for

the sake, but merely as an aid to what I have conceived to be my mission

in life” ?
(A) Bangalee (B) Young India
- (C) Bombay Chronicle (D) The Madrass Standard

13. In the term CMYK, the term K refers to :
(A) black (B) Red

(C) Magenta (D) Yellow
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14. Yellow Journalism :
(A) helps the publisher or journal mint millions
(B) does not spoil the society

(C) is an essential prerequisite for success in commercial terms in the mass

media scenario today

(D) all of the above
15. Bold face text would be ideal for printing :

(A) heading ) (B) text

(C) both (A) and (B) (D) none of these
16. What is the USP of a fashion designer’s apparels ?

(A) Elegance (B) Brand

(C) Utility (D) Both (A) and (B)
17.  Kohler has defined two more P’s of marketing. These are :

(A) Political influence and place

(B) Power and political influence

(C) Power and place

(D) Product strategy and power
T.B.C. : 50/13/ET-[[]_ 10
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18. The term ‘300 DPI’ means that there are :
(A) 9000 dots in one square inch
(B) 3000 dots in one square inch
(C) 900 dots in one square inch
(D) 300 dots in one square inch
19. A person in the age group of 6-12 years is not likely to buy :
(A) Chocolates (B) Maggi noodles
(C) Sports car : (D) The Harrypotter series

20. Retention depends upon :

(A) time gap (B) wvalues
(C) clarity of message (D) all of these

21.  Public relations aims to build a favourable opinion which can be achieved
by :

(A) increasing production

(B) advertising

(C) giving eloquent speeches

(D) genuine action and honest communication
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22.  People’s meters would be used to get :
(A) primary data
(B) secondary data .
(C) either primary or secondary data

(D) neither primary nor secondary data

23. ‘The Republic’ is written by :
(A) Rousseau . (B) Machiavelli
(C) Plato (D) Marx

24. Who is a ‘stringer’ ?
(A) A freelance journalist who is not paid a fixed amount

(B) A full-time journalist

(C) A person who resides in far off places and is attached to a newspaper

and is paid a fixed amount

(D) A person who operates the curtain in theatre
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25.  The underdeveloped nations of the world opposed the Convention on Inter-

national Transmission of News because :
(A) they feared that their might be an information boom in their countries

(B) they feared that their correspondents might not get news from the west

(C) they opined that the activities of the correspondents of developed nations

might harm their. prestige

(D) all of the above
26. What is a ‘middle’ in a newspaper ?

(A) it mea;ns the middle of the i)age

(B) the middle page of the newspaper

(C) the middle paragraph of the article

(D) small and light article printed in the middle of editorial page
27.  What was the view of the NAM about news ?

(A) It is not needed in the South

(B) It is distorted by the South

(C) It is essentially a stooge of the North

(D) It is developmental process
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28. At present, the French Press is :
(A) highly centralised
(B) partially controlled by the state
(C) highly decentraliseci
(D) none of the above
29. Deccan Herald is a regional newspaper published from :
(A) Bengaluru (B) Delhi
(C) Mumbai | (D) Chennai

30.  When we discuss the issue of freedom of press, we generally refer to the freedom

of the press from the :

(A) control of the non-profit organisations that have become powerful due

to raising concerns of society

(B) control of various governments under which the press institutions of

countries operate

(C) rules delineated in the UN conferences that are defined from time to

time
(D) none of the above

-B.C. : 50/13/ET-]] 18
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31. If you want to make an engineering presentation that would include video-

clips, you should use :
(A) MS-PowerPoint (B) Director 8

(C) Adobe Photoshop (D) MS-Excel -

32. Why did Soviet Union oppose the Draft Convention on freedom of

Information ?
(A) She feared that the content of the draft might be altered
(B) She did not positively set forth such obligations
(C) She wanted the West to follow these norms first
(D) All of the above
33. The medium shot of the camera is upto :
(A) the knees of the subject
(B) the feet of the subject
(C) the waist of the subject

(D) none of the above

T.B.C. : 50/13/ET-T]] 20
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34. Which of the following would take minimum attention of a person while he

is at work ?
(A) A sit com on TV
(B) A book
(C) A song on Radio

(D) A newspaper

35. What was the name of the report of MacBride Commission ?
(A) Many Voices, One World

(B) Many Voices, Many Worlds

B i B e i

(C) NWICO

(D) International Communication Report

36. What is a sound bite ? '
(A) Signature tune
(B) Audio signal given by radio/TV producer 1
(C) Quote from speech used in Radio/TV
(D) Opening line of TV/Radio announcer

T.B.C. : 50/13/ET=]] I 22
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37. Long shot takes the view of a subject :
(A) from heart to waiste (B) from head to knees
(C) from head to feet ‘ (D) from head to waiste
38. A successful freelance journalist must not have :
(A) love for writing
(B) identified area for writing
(C) links .with mégazines and newspapers
(D) weak writing skills
39. Which of the following statements is false ?

(A) Propaganda affects people in a large city, area, state, nation or the

world

(B) Propaganda helps the masses realise the vitality of the core

issue

(C) A device used in one propaganda campaign may not be useful in

another

(D) Propaganda can be done by misrepresenting facts and supplying wrong

sets of information
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40. Ethical concepts change with :
(A) place ] (B) situation
(C) time (D) all of these
41. What does the term EPS mean ?
(A) Extra Passive Script
(B) Encapsulated Partial Script
(C) Encapsulated Post Séript
(D) Entry of Post ‘Script
42. The Second Press Commission examined :
(A) ownership pattern
(B)' delinking and diffusion of ownership and control
(C) rights of newspaper industry
(D) Both (A) and (B)

43. The highest form of teleconferencing in which a two-way exchange of moving

pictures is possible is called :
" (A) computer conferencing (B) audio conferencing

(C) audio-graphic conferencing (D) video conferencing

T.B.C. : 50/13/ET-][] 26
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44.  Which of the following is not a computer peripheral ?

(A) SD-RAM (B) Web Camera
(C) Laser Printer (D) Secanner
45. Radio and TV are the examples of :
(A) group communication
(B) mediated communicatiqn
(C) interpersonal communication
(D) - human communication
46. Micx;ophone is a hi-fi instrument. Here ‘fi’ means :
(A) Finical (B) Final
(C) Finished (D) Fidelity
47.  Which is the ‘bi-monthly media journal of ‘Press Institute of India’ ?
(A) Vidura (B) RIND survey

(C) Depth news (D) Data India
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48. The purpose of the Official Secrets Act, 1923 is to :
(A) help journalist to unearth scams
(B)  help journalists to keep secrets
(C) keep journalists away from government offices
(D) secure official documents from leakage
49. Which is the elerr}ent that make news ?
(A) Human interest (B) Proximity
(C) Timeliness ~ (D) All of these
50. The first étage of layout is also called :
(A) first act (B) first galley
(C) galley kD) thumbnail sketch
51.  Currently in India, people meters have been installed in :
(A) twenty cities (B) all major and minor cities

(C) four metropolitan cities (D) hundred cities
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52.

54.

Advertising has been criticized because :
(A) it is high profile and glossy and it enthralls to win customers

(B) it motivates consumers to try new products

(C) it generétes the demand not needed by customers
(D) none cf the above

The data collected by an advertising researcher from AC Neilsen, IMRB or

-

ORG would be :
(A) raw data (B) collected data
(C) primary data (D) -secondary data

Which theories derived strength from Marxism ?
(A) .Social responsibility theory

(B) Mass s.ociety theory

(C) Political economy media theory.

(D) Cultural theory
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55.

56.

57.

58.

Headlinés are generally given by :
(A) Reporter (B) Page designer

(C) Sub-editors (D) Editor

-

Points included in the coverage of any sports are :

(A) Name of players (B) Crucial moments

(C) Final scores (D) All of these

Who introduced ;:he concept of noise in his model ?

(A) Charles E. Osgood (B) Shannon and Weaver

(C) George Gerbner - (D) Wilbur Schramm

Audience and feedback are the two main components of :

(A) group communication
(B) interpersonal communication
(C) intrapersonal communication

(D) mass communication
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55.

56.

57.

58.

yise AMIE: HE @ § 2

(A) HaREHM (B) Y= Hl HLA drell
(C) 3yH9EH (D) HUREH
@?ﬁ%mﬁm_mvaﬂmﬁr@m%?

A) fe=fsg & ™ (B) WeAU R
(C) =" =R (D) & 4
aqﬁdan%nfgaﬁ;vﬁt’ﬁmmwm?
(A) =H 3 IES (B) I 3R R
(C) mﬂw (D) faesw 9
dfedm iR weds fFed & wE w2 § 7

(A) THE ER

(B) Sqadfaas HER

(C) siaaafFes dar

(D) SEEER
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59.  Match the following from List I with List IT and choose the correct answer

from the codes given below :

List I List II
(@) Audio media (1) TV
(b) Print media 42 Radio
(¢) Traditional media (3) Magazine
(d) Visual media (4) Puppet show
Codes : |

(a) ®) (@) (d)
A) ) (4) (3) (2)
(B) (3) (1) (2) | (4)
(C) (2 (3) (4) (1)
D) @) (2) | (1) (3)

60.  Which organisation decides the rates of mobile phone and landline services

in India ?

(A) Ministry of Communication

(B) VSNL

(C) Ministry of Information and Broadcasting

(D) Telecom Regulatory Authority of India
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59. fam=-1 ¥ faw-1I % foom =S o = A 2 | @& W I

fore-1 | fore-11
(@) 3ffea ey (1) e
®) fiz mem < (2 @
(¢) URWRE =AW 3) e
d) T¥d W (4) H3gen WM

@ ® _© @
@“ v @ B @
B B @O @ @
© @ B @ W
D @ @ @ @
60. W@ § WeEE B IR deand duel # R P SR 9@ B ¥ 2
(A) TIHER HACHE
B) N TETTE
(C) g T FERY T
D) & TgEed slfed s e
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61. The foreign direct investment in Indian Newspapers and Magazines can be

upto :
(A) 51 percent (B) 19 percent
(C) 50 percent s (D) 26 percent

62.  Dependency theory was proposed by :
(A) Klapper
(B) Ball-Rockeach
(C) Osgood
(D) McLuhan
63. Which of the fgllowing 1s not a traditional media ?
(A) Sculptures of Khajuraho
(B) Folk-dance
(C) Radio Broadcast

(D) Puppet theatre
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61. 9Rd & ¥HER-TA R ufawel # faRwt 4 fEw e @ wwa

s ?
(A) 51 wfaem (B) 19 wfasm
(C) 50 yfage . (D) 26 wfaye

62. fetsdl fogia & w9 #1 ¥ ?

(A) TR

(B) w-UHd
(C) e

(D) HageH

63. frafafea ¥ ¥ @ wRufts wegm @& § 2
(A) TR w A
(B) -7
(C) e warw

(D)  HaYdet
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64. Embargo in news means :
(A) news agency
(B) trend of social change
(C) deadline for the release of a news
(D) theory of market research

65. Which is an organisation that sells article and features on behalf of a

writer ?
(A) Scoop (B) Slug
(C) News agency (D) Syndicate

66. Which of the following is a true stgtement ?
(A) DAVP we;s organised by WTO
(B) DAVP issues advertisement to newspapers and TV
| (C) DAVP stresses the need to educate the girl child
(D) DAVP provides emplpyment to rural youth
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64. THER H TEW & F Ho@d @l § 2
(A) war wfafd
@ s <t e
(C) T HER 9 FH & 9 999
(D) q@zﬁaﬁw‘ﬂmﬂ_

65. é@aaﬁaﬁwﬁﬁw'ﬁﬂaﬁﬁ@mmm%?
(A) = - ® @
(C) war wfufd (D) fafese

66. 4 fem T wEE GwH WE T 7
(A) St F sy el F wufen fEA
(B) Ehwerdt sl iR et i famr SR wE ®
(©) < afeEl W fen w1 oTavEs@ W 0 ¥
D) S T gl @ AR b
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67.  Who amongst the following was not from critical theory proponent of Frank-

furt School ?
(A) Walter Benjamin
(B) Theodore Adorno
(C) Horkheimer
(D) All of the above
68. Which of the followipg 18 not true ?
(A) Mass met'iia can focus attention
(B) Mass me&ia can lessen the population growth
(C) Mass media can raise aspiration
(D) All of the above

69.  Which of the following is true for communication modal of

Schramm ?

(A) Encoding has been replaced

(B) Decoding has been replaced

(C) Noise and feedbaék has been acided

(D) Context of stimuli has been added
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67. fTrefafea & @ &9 BeEhe A B AGEIHE fHGIa w1 FeEd A&

a1 ?
(A) STeet SSIHA
(B) fysiEr st
(C) TheE™
(D) I9hF Tt
68. freifefeg § @ 71 W@ & ¥ 2
(A) TFEYR HIEAH S TG H o
(B) meqﬁsﬁwmm%
©)  SFRER wem S e %
(D) 3Sugs @i
69. W & TuR Hisd & wed # Frafafes & @ = w& ¥ 2
(A) TRIET & g fgam T ®
(B) <wfET F oz e m o
© Wr ok wredw e #
(D) wiget &1 wed Ser T ¥
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70.  Broadcasting subject is under the :

(A) Union List (B) Concurrent List
(C) State List (D) None of these
71.  ‘Akash Bharati’ Broadcast Trust was recommended by :

(A) Advani Committee
(B) Varghese Committee
(C) Chandra Committee
(D) None of the above
72..  Which of the following is an example of Yellow Journalism ?

(A) Bhavana Sunayya reaches out at the movie that is poorly made in her

film review

(B) Sumashukla Walunjkar gives a two star rating to a movie that has been

reviewed by another newspaper

(C) A film Jine do describes how the Muhurat shot of a new movie was

taken

(D) A film reporter writes “Rekha finds Akshaya delicious”
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70.

Tk

72.

waro fawg feg gt # ® 2
(A) G g (B) wwadt gt
() T g : (D) ¥ § HE &

‘mm'mwmﬁmﬁ?

(A) srsgrt gfafa
(B) it gfafq
(C) st wfafq

(D) 3wEF H | FE Tl
frafafes & § $Aw 99 T &1 SSw ¥ 2

(A) wE g R fRem wdtan § ww @ s few # wwe feEm
Ecii S '

(B) gAY agee fRdt fieew 1 1 faar <t € 99 frelt sm@ar & er=at
quien W ¥

(C) U firew ‘S @' g Roar § 5 et @m fven &1 qgd #8 feemn

RG]

D) Tw frew Ok faea & '@ & gy w@iese &'’
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73. Names or bits of information superimposed on TV screen is cglled :
(A) Voice over (B) Supers
(C) Sound bite ’ | (D) Stand-up
74.  Which model refers to ‘Gatekeeper’ concept ?
(A) George Gerbner
(B) Shannon and Weaver
(C) Newcomb
(D) Westley and Maclean

75. Who said “Newspaper should be both a daily teacher and a daily

tribune ?

(A) Edwin Emery

(B) Jawaharlal Nehru
(C) Joseph Pulitzer

(D) Lester Market
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73. TR W YEN B FW W I F TR W ¥ * IR R@mw W@ ¥, K

T Fed &
(A) afEH AN ; (B) g
(©) uEE WEE D) Te-3m

74, ‘TeHR’ W sEunon few dHew # f W ¥ ?
(A) ST TER '
(B) Waﬁmﬁm
(C) =gHrE
(D) St IR A

75. “m@mmmﬁmmaﬁéﬁmﬁasﬂ",mﬁwﬁm

ar ?

(A) usfem T
(B) AR TEE
(C) SH® e

(D) =X Hhe
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